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1. ZR and £S are complementary/’s.
ZU and £V are complementary £’s.
Ifm/R=y-2,m/S=2x+3, mZU=2x—y, msZV=x-1,
find x, y, mZR, mZS, m/ZU, and mZV.
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2. Given: ZABD and ZCBD form a
linear pair.
ZYXZ and AWXZ form a
linear pair.
ZABD = /WXZ

Prove: Z/CBD = /YXZ
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3. Write a paragraph proof.
Given: ZABCisart. £, 22= /A

Prove: 21 and ZA are complementary ’s
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4. Given: /1 =.3 /
22 and /3 are supp. £°s 1

Prove: /1 =./4

A
A J

A
&\
.
Y



	Page 1: Sep 5-4:37 AM
	Page 2: Sep 5-9:48 AM
	Page 3: Aug 31-7:04 AM
	Page 4: Sep 5-9:59 AM

